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(- )@} VSEPR(VaIence shell electron pair repulsion theory) i & &
(=) #MVSEPREGIE R ™ 74+ 277k ~ £ F 5
o [T & | 2564 )
(1) IF; (2) SF, (3) XeF,
(Z) BEATFHEHRFA T PERE? [34]
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(=) B D@3y A #77 425% (Arrhenius equation) » T 3P = 4230 ¢ wRE T ¢ RAE
SRR R L L VIR N Ry faﬁafgi? [104 ]
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(Z) Mokdes § A S A ehF & 5 5] » H,0+CO, > H,CO,,, » &25°CHE F i
s;$ ¥ dick, =3.75x107s™ » &0°CPF & Jif 5 ¥ Bk =2.1x107°s7 5 - Bt F 2
&1t ae © (In17.86=2.883) [74 ]
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EDTA(L = %% ¢ B) & iF L2 BB BT ol £ 1487 0 £100% 404 3 425,

(- ) EDTA-NaZz4rgg+ 115 B o & o ZEDTA-Natk 875 % k& 5 0.012M > 383+
FEEEFAML)BRTF LSS E (Mg ? h+ £Ca=40.08- [5~4 ]

(=) ¥k P-1£2.04585 > 503 2 % L 8 A 2 250 mL o B~50 mLz& & 1 33 BpHiE
fe ~dpom At 0 2 FTEDTA-Najf TF %& o % F T4 g-/% > EDTA-Natk 2 eh*
£ 51640mL > 3t E E B A ek R 1005 s 2407 s o [84]

(= ) EDTA-Naif 3;5, S @ v sv2mLiE 3 ok o 2 fdFpH E>10.0 o fie %] pH=10.0
NH,-NH,Cl 3% #7372 1.0 L> #2350 mL+# &k -k(16M) > #-5 F @@ * 5 ° 5

(@ NH,Cl# % 2 4 -k enK, =1.8x10° » NH,Cleh* £=53.49 - [124 ]
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EXF(COfrH, R & g M)A JI* enE & T 5 o PLEIRE DY - AATAA &
A LA F A R A REL E R E04% 0 COM T F 5 19% - & A
(1) 2H,(g)+0,(g) — 2H,0(g) * AH = -487.1 kd/mol
(2) C(s)+0,(g) - CO,(9) » AH = -396.1 ki/mol
(3)2C0O(g)+0,(9) — 2C0O,(g) > AH = -569.7 ki/mol
(4)H,0(l) > H,0(9) » AH =44.2 kJ/mol
(-) —?fk?ff? WL AMEREE EFF hF B 5 C(8)+H,0(9) » CO(g)+H,(g) » #
EHF sKkImol) o Fu# s B s s g2 [84])
() FL 2 FCOfcH, ¥R R & FL1» ¥ 425°C - latm 5 J2 J8 7 48 » 383+ 5 H
FL e (kI/m*) ? # &8 ¥ #R=0.082 atm- L/mol Ko [124)
(Z) EHEMLCOF BREY BFLF et F &2 F #7100 mol CO » {3454 4%
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